3 A 528%<1(70mR+-50mR)

20153/ 225 7—Fz!)—15

yh—JBF
JEGL | K4 Bl 70m 70m = 10 X
1{UARFOA TEERE 327 336 663 30 4
2| BILEH TR 331 328 659 19 8
I FERTE EEERE 328 313 641 22 8
4| KB — 15 =R¥HE 322 306 628 17 7
5|71 N.E— KR TZ A 307 294 601 15 3
6| EAIE R KL 286 298 584 14 3
BEKEE ZEEK 269 284 553 6 3
8|E1E F ABR AT 306 226 532 8 0
9|BBARE ZEEK 250 260 510 3 0
10F 8 ZEEK 275 231 506 7 0
11| B5 4t 528 LUK 262 243 505 3 1
12|&EREAN =R¥HE 228 260 488 5 0
13| & EE ZEEK 228 255 483 6 2
14[/M L Z_38 LM K= 219 241 460 2 0
151k~ AHEE  |REEK 226 232 458 2 1
16| ES A ZEEK 235 204 439 0 0
17|#EAE R ZEEK 208 220 428 1 0
18| )| A% 14 ZEEK 203 210 413 3 1
19|&EEEH ZEERK 179 176 355 0 0
20| BiEh 3} =EEK 158 194 352 2 0
Ri5% |IUIRIEth ZEEK 0 0 0 0 0
Yh—T &+
JEGL | K4 Bl 70m 70m = 10 X
1| I0EEEETY EEERE 326 315 641 17 6
2|5% ® TR 309 324 633 18 4
3K fE T RE 304 278 582 9 2
AlHP{Z%E BEHLZFEIR 276 294 570 13 3
5| RFEEH ZEER 282 283 565 10 2
6|EHEAE ZEEK 297 264 561 11 5
NAREF =B 211 217 428 3 0
NS =ZEEK 225 198 423 2 0
9| fhEFER ZEEK 195 204 399 1 0
Ri5 |EBEED ZREK 0 0 0 0 0
AV URBF
JBhL | K4 g 50m 50m &5t 10 X
1|45 87 & B L 348 346 694 47 14
2| AHE iR N 346 340 686 40 10
3|FHEAIEX RERAT 328 333 661 23 6
4|15 IE— EER 327 333 660 25 6
5|8 OBE K ABR AT 329 330 659 20 11
6| EIKFEIT LER 315 319 634 15 6
U EEIES ZRBE 298 306 604 12 3
8|/ H{Eth BREH 295 291 586 12 2
off Ewd A HET 268 286 554 6 1
aAVINOURELF
JBhL | K4 g 50m 50m &5t 10 X
1| RHER LER 327 332 659 16 8




